ORG7023AY Junglebane - armgang m ringe

Date: 2022.03.28  Subject: View
Rev: 2022.03.28 Drawing no.: 7023AY-D1_00
Page no. 1/1  Scale: none

Paper: AL Drawn by: Bettina Majer

Mounting

Copyright Elverdal A/S.

Elverdal

ol

< o
“D ooo GO

Area 14,1m?
Circumference 13,9m

T
<150cm |FH

EN 1176

INFO

VIGTIGT: Hele anlaegget skal samles fgr der stgbes beton
IMPORTANT: The entire facility must be assembled before mould in concrete

WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird.




ORG7023AY Junglebane - armgang m ringe

Date: 2022.03.28  Subject: View M oun t | N g

Rev: 2022.03.28  Drawing no. 7023AY-D1_00 E I Ve r d a I
Page no.: 1/1  Scale: 1:50 Copyright Elverdal A/S.

Paper: AL Drawn by: Bettina Majer

< 2000 - - 5150 -
400 400 400 i
i i
R1575 \
(@]
Q) @)
(o]
8
.év Y R1575
A
§ A
(@]
Y S Y

@500

INFO

VIGTIGT: Hele anlaegget skal samles fgr der stgbes beton

e EN 1176 IMPORTANT: The entire facility must be assembled before mould in concrete
<150cm |FH

) = WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
Area 14,1m - betoniert wird.

Circumference 13,9m




ORG7023AY Junglebane - armgang m ringe

Date: 2022.03.28  Subject: 101\7 I - S

Rev: 2022.03.28  Drawing no: 7023AY-D1_00 M ountin g E I Ve r d a I

Page no.: 1/1  Scale: none Copyright Elverdal A/S.

Paper: AL Drawn by: Bettina Majer

DK GB DE
Junglebane - armgang m ringe h 3m og b 2m Obstacle course - monkey bar with rings h 3m and w 2m Dschungelspielplatz - Affenleiter m Ringen H 3m und B 2m
Antal/
Quantity/

Pos: Betegnelse: Name: Bezeichnung: Anzahl:  Artikel/ltem#
1 |Robinie stamme 3800 Robiniestolpe 3800mm Robinie stammer 2 ELV75100004
2 |Armgangsring Monkey handel Hangelgriffe 4 ELV75400030
3 | Skive M10x25 Washer M10x25 Scheibe M10x25 4 ELV95105025
4 | Topmgtrik M10 Hex Cap Nut M10 Hutmutter M10 4 ELV94100000
5 |@jebolt M10x50 Eye bolt M10x50 Augenbolzen M10x50 4 ELV15100050
6 |Nylonbgsning &10/6x10 Nylon insert 10/6x10 Nylonbuchse 4 ELV75000012
7 |Sjeekel @6mm 18 mm gap Shackle @6mm 18mm Gap Schékel @6mm 18 mm gap 4 ELV93000022
8 |Elverdor @39,8x40 Elverdot 239,8x40 Elverdot g39,8x40 2 ELV98180000
9 |HEX tree skrue 8x90 Hex wood screw 8x90 HEX Holzschraube 8x90 4 ELV02080090
10 |Popnitte Blind fastener Blindniete 2 ELV70048100
11 | Stal rgr Steel pipe Stahlrohr 1 ELV75300003

o
A b

VIGTIGT: Hele anlaegget skal samles for der stgbes beton
IMPORTANT: The entire facility must be assembled before mould in concrete

WICHTIG: Die Anlage muB komplett montiert sein, bevor das Fundament
betoniert wird.

SW N3 s ' EN 1176

<150cm | FH Soooo
Area 14,1m?
Circumference 13,9m






